1km? = 100 ha = 10000a = 1000000 m?
80a = 0.008 km?




@ 24000m? = 2.4ha @ 150a = 1.5ha
@0.3 km? = 3ha @ 24000a = 2.4km?

® 3.6ha = 36000 m?

® 0.3km? = 30ha




@ 56000000 g = 56t

@ 380000g 4 0.063t = 443 kg
(@)3.5t +820kg = 1170 kg

@ 0.7t -2 70g ] 10000 Hio]T},

® 380kg + 4200 g = 380.42kg

1t = 1000kg = 1000000 g
® 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg




4. Hol7F3.6km? 1 AAAY RFe] ol M Az Zol7t 600m &

u) 72| Qo Z T4 0.

> E.

=

> H2 T 6000m

3.6km? = 3600000 m? ©] =&
3600000 + 600 = 6000( m) YTt




G4 =oAL 1ad 45kg © o] WA YTk Uk G4
Y] =] moFo] Tt Zrhel 4] el A S F ¢ QU7

(=9 |ol)
= 1200 x 600 = 2 = 360000(m?) = 3600(a)
(RATE A= 3600 x 45 = 162000(kg) = 162(t)




